RIS AIHE

RARBHRNEERERSEREREE

SH4AESE S (EAREBRTGS)
5 g KB DORME fial & &t
( 18 [@) ( 31 [=@) ( 49 [@)
1 B 13 27 40
22 2 &t 20 38 58
MABEH R 1 5 ;
A&t 34 65 99
1 RIS EREENSDBN 0 4 4
vt e 5 4t 2 —HEEEEEN DR 3 3 6
BHEDIRE | Baaustise 5—rs0Rd 0 4 i
oErkr |4 BIEL 21 52 79
5 Z<BH 4 2 6
&% 34 65 99
1 Rik% 8 20 28
2 g 2 5 7
. 3 HBA 1 6 7
*%’E% *%%33 4 FDih 3 p) B
™ |5 BEXE 10 4 14
6 Ei 10 28 38
= 34 65 99
1 BEEE 7 17 24
2 fhfREE 19 31 50
HRBHITOVT (3 @rEHL 7 11 18
4 FBj 1 6 7
= 34 65 99
1 4A3% 10 29 39
O3 0 0 0
@&E: 10 29 39
2 & 2 9% 24 34 58
3 Fhim 0 2 2
= 34 65 99
1 BEiEE 9 28 37
2 h\fEpE 15 20 35
3 ARz 9 14 23
7 DOEEAR 5 2 7
LEAS |  QEEREAR 3 11 14
| @ DHhD ARE i i 5
4 ZDith i 3 4
= 34 65 99
1 RSk S 31 50 81
ORE R EES (FO) 2 1 3
| QfEE{ERYME ) 3 3 6
| Q& RIRAE(F2) 7 16 53
@RAEE (F3) 7 i5 55
| OERREMEE (F4) 6 11 19
5 & | ©EEEE (F5) 0 0 0
@D13=YF ) T4 E (F6) 1 2 3
| @fMEERF7) 0 i i
| ODERRE (F8) 4 i 5
/MR- FEH (F9) 1 0 i
DTAIA 0 0 0
2 FDih 3 15 18
a&t 34 65 99
15 7 13 20
REEOEE |2 = 5 i 3
(ABREEIZDOLT) |3 FEH 0 0 0
&t 9 14 23
=R N 8 11 19
OEE AR 4 2 6
QERIZE AR 3 9 12
P PF Dthd Afz 1 0 1
L R 2 BRI e 0 0 0
ABRBEISONT) [y w2 o 0 5 o
4 hig FE R EL ) EE R 1 3 4
5 LSl K 0 0 0
6 FDih 0 0 0
=k 9 14 23
XEZE G2 FHE —RREAERSEERKTDERMIOIE H25 42 ET IR

X HAOLSBERYELADL BEOZZRADE

FHEEREEY S,




